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[Q1] Prior to this survey, have you heard of Independent Police Complaints Council, or IPCC?
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[Q2a] [Only ask those answered “yes” or “DK/HS” in Q1, base=698] From where have you heard of IPCC? Any other channels? (Do not
read out answers, multiple choices allowed)z-#* i% (k&> TS fiE TE &€ (2R3 ? (A F R > 7§ )

[Q2b] [Only ask those answered “yes” or “DK/HS” in Q1, base=698] Have you ever heard of IPCC from the following channels then?
(Read out those channels with * which the respondents have not mentioned in Q2a, multiple answers allowed)=y i= 3 % £ & #ig S
W@ PEEE v G LA AT Q22 F 4 PRl > T iE §IE)
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[Q2a] [Only ask those answered “yes” or “DK/HS” in Q1, base=698] From where have you heard of IPCC? Any other channels? (Do not
read out answers, multiple choices allowed)z-i¢ i 7€ 27 i i5 F618 fgse w23 (FHER 7ESLA)

[Q2b] [Only ask those answered “yes” or “DK/HS” in Q1, base=698] Have you ever heard of IPCC from the following channels then?
(Read out those channels with * which the respondents have not mentioned in Q2a, multiple answers allowed)=y i= 3 % £ & #ig S

j@riﬁ%‘ch{?(_

dexmet Ak K B Q2ai F R R iR T > VIE 5 3E)



PR [88E B2 FE | <1% 4%
% 3%
EEe AW/ 2%
<% = 1%
4 3F 2%
<191 2% W 2014 %- 52
B2oi3s-8n2
ANES] i s K A% 20/%*
| LR ’ B 2014 #5 #&2 (2§ &
24 #/7)
YouTube ' & & ¢ 474 , 296+ WI2013 4 %2 (2 #7
**p<0.01 13 8/7)
*p<0.05
2014 2 4 = 700 0 001 002 003 004 005 006 007 008 009 01
2013 A # = 698

N7 2014 # s7oRTH i E 7
[Q2a] [Only ask those answered “yes” or “DK/HS” in Q1, base=698] From where have you heard of IPCC? Any other channels? (Do not

read out answers, multiple choices allowed)z-i¢ i 7€ 27 i i5 F618 T &g w23 (2#@E% > 7 §70)

[Q2b] [Only ask those answered “yes” or “DK/HS” in Q1, base=698] Have you ever heard of IPCC from the following channels then?

(Read out those channels with * which the respondents have not mentioned in Q2a, multiple answers allowed)=Y i 3 % & & g [T
@ TEEE v G ELA AR AQain R R kT 0 T 5 F)
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[Q2a] [Only ask those answered “yes” or “DK/HS” in Q1, base=698] From where have you heard of IPCC? Any other channels? (Do not
read out answers, multiple choices allowed)z-i¢ i 7€ 27 i i5 F618 Tg®e w2832 (3F 8% & 530)

[Q2b] [Only ask those answered “yes” or “DK/HS” in Q1, base=698] Have you ever heard of IPCC from the following channels then?
(Read out those channels with * which the respondents have not mentioned in Q2a, multiple answers allowed)=y i= 3 % £ & #ig S
W@ PEEE v G LA AT Q22 F 4 PRl > T iE §IE)
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[Q3] [Only ask those answered “yes” or “DK/HS” in Q1, base=698] To your knowledge, what are IPCC’s duties? Any other duties? (Do

not read out options, multiple answers allowed) #3 1= 7 f& > TZ & ¢ | %1 & 1 (v %D~ vt ?
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[Q4] [Only ask those answered “yes” or “DK/HS” in Q1, base=698] Do you think IPCC is... ? (Read out first two
options, order to be randomized by computer, ONE answer only)

i TEEE G L2 B o RAEVERR /) BRERA- NP2 N AR EFE AL T
el NiE- 1)

12



B
N2 fzi-gg j%[;r‘m)_ 11%
SETLT |
- } 3%
Rk g /i ERE 3%
. | 2%
Ry 7y
: ‘ 194
Ak wER % By
e l1%
S KT -
#<1% - 2014
g % J g ¥ <1%
2 B (®<1%
>~ f '1‘ lE 1% -} 2013
Hiu | 2%3%
] [0)
2014 A # =1,037 FE ATig %0//5)
2013 A # =1,008 . . . . : : :
0% 5% 10% 15% 20% 25% 30%
[Q5] What do you think is the most effective channel to make a complaint of Police? 13

(Do not read out options, ONE answer only)
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[Q6] In the past year, did you hear any news on complaints made to the Hong Kong Police Force? If yes, can you tell me what 14

was it about? (Do not read out options, multiple answers allowed)
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[Q7] [Only ask respondents who answered “yes” in Q6] Were you aware of the results of these complaints? (Interviewer repeat 15

the answer mentioned by the respondent in Q6, ONE answer only)
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[Q8] Which one of the following types of complaints of the Police Force would you care about most? (Read
out options, ONE answer only)
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Force, members to be appointed by the Chief Executive. It IS an
Important part of the “two-tier” complaints system of the Hong Kong
Police Force, specifying in monitoring and reviewing public
complaints made to the police force via the CAPO. Although public
complaints made to the police force are processed through the CAPO,
results must be passed by the IPCC in order to make sure the
Investigation is impartial, objective and transparent.”
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[Q9] Do you think IPCC is independent in monitoring and reviewing public complaints of the Police?
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[Q10] Do you think IPCC is able to monitor and review CAPQ’s investigation in an impartial and objective way? }2013
CEEITTEE  wdan T TR Rt THRFERSE) TR A (FL?
[Q11] Do you think IPCC’s complaint monitor and review is efficient or not ? .} 2013 .} 2014
EEE TEEE T ER RRREETF B

[Q12] What do you think of IPCC’s level of transparency in complaint monitor and review?
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[Q9] Do you think IPCC is independent in monitoring and reviewing public complaints of the Police? (Read out

options, ONE answer only)
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[Q10] Do you think IPCC is able to monitor and review CAPQ’s investigation in an impartial and objective way?
(Read out options, ONE answer only)
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[Q11] Do you think IPCC’s complaint monitor and review is efficient or not ? (Read out options, ONE answer

only)
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[Q12] What do you think of IPCC’s level of transparency in complaint monitor and review? (Read out options, -

ONE answer only)
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[Q13] Overall speaking, are you confident in IPCC? (Interviewer to probe intensity)
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[Q14] [Only ask respondents who have answered “Not quite confident” and “Not confident at all” in Q13] Why do you think it is 25

“Not quite confident”/ “Not confident at all”? Any more? (Do not read out options, multiple answers allowed)
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[Q15] Are you confident in the existing two-tier system of complaints against the Police? (Interviewer to
probe intensity) - iR HHILPES K E R AL FERFIRG A G0 2 R ERARR)
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[Q16] [Only ask respondents who have answered “Not quite confident” and “Not confident at all” in Q15] How do you think IPCC could
improve this two-tier complaints system? (Do not read out options, multiple answers allowed)
FPRGEEEV BRI B EE R AR FFARAGHEF > ViE F )



—

HIEEE  FHIA

28



2014 - 60%*
2013 -57%

~

)

, 1 26%6**
- EK | 32%
4 |- 3 o
- na 0 >
Ll 2% £ 5
| 2014 - 6%
3 3% 2013 - 4% AR
fom 2%
\_ J ) EEEREPARE
1 ’1(‘
0]
T[4 R : (yf”’ (2013 - 2%; 2014 -
2%)
0% 10% 200 2) A AL
. }2014 7}2013 Rl
___ (2013 - 1%; 2014 -
*;zz%gl ti N

2014 4 # = 1,037 7 #ic

2013 # % = 1,007

943

955

[Q17] Overall speaking, do you think IPCC’s image is? (Read out options, ONE answer only)
EREA GEETEEE LA E % TE- )

<O
ZRABRT
)E&¢ R

(2013 - 14%; 2014 -
129%)

EEE oL
(2013 - 10%; 2014 -

~

119%)

3 EEE R AR
:u / f l\)
(2013 - 10%; 2014 -
8%)

J

29

&




*xp<0,01
*p<0.05

2014 £ # = 623

2013 £ # =578

- 749 N\
EEgHoL

EEEEER AT

K52k pd RERF RRR T

EEEREP RS

£ 8§ w0t
EEed it
s E%k

17%
i 13%*
17%
i 13%
14%
| 11%
_ 10%
11%
12%
| 89%6*
| 5%
6%
] 6%
5%
0 [
] 4% -} 2014
2%
_ 1% } 2013
2%
4%

i 11%

12%
0% 5% 10% 15% 20% 25%

[Q18a] [Only ask respondents who have answered “Positive” and “Quite positive” in Q17] Why do you think it is “Positive” or “Quite
positive”? Any more? (Do not read out options, multiple answers allowed) 2k f# i= & 7 [3% QL1713 %] ?@ 3?2 (2 F F % > 7 ¢ 5%)
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[Q18b] [Only ask respondents who have answered “Negative” and “Quite negative” in Q17] Why do you think it is * Negative and “Quite
negative”? Any more? (Do not read out options, multiple answers allowed) 2k f# % & (7 [3f 11QL7e7% F]ee?2® 5 v 2 (2 @ ¥ % » ¥iE §38)
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[Q19] Are you satisfied with the performance of IPCC? (Interviewer to probe intensity)
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[Q20] Please use a scale of 0-100 to rate your level of satisfaction for IPCC, with 0 indicating very much dissatisfied, 100 indicating very much
satisfied and O meaning half-half.
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[Q21] Lastly, what are your expectations on IPCC? Any more? (Do not read out options, multiple answers allowed)
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